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.iu} The finite sine transform of sin axis:

Note : Attempt all questions. _ AB)/
' by
(a) 0 A

Section- A
¢) Boththe above
Objective Type Questions ) {(d) None of these

{ . S
e v I f(s)= qu(X}sm—’Efdx, then F(x) is equal to:
Q.1. Choose the correct answer. 1x15=15 . . { |

iy Fourier sine transform of F(x) is defined as sx

(a) —Zf (s)sin==

s-—1

(@ f(s)= I:F(X]Sin_ sxdx

2 sax
® £l I_ F( x)sin sxdx (b) !Z (SJCOST

dy STX
0 : —+ ) a,c0s——
(© fs(s)= |__F(x)sinsxdx, © > Z ;
, (d) None of these
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Vi) The finite Fourier cosine transform of X, 0<x<nis:

@ o iy

n

() - | @ 0
vii) Convolution F*G is defined as
(u) G(u

(a) J— J.D

(b) ‘{:F(u} g(x~-u)du

c) 715 J: F(u) G(x-u)du

(d) None ofthesa
viii) In Parseval's identity for Fourier series, {x} is:
(a) Convergent
(c} Oscillatory

{b) Divergent
(d) Convergent uniformly

ix) _[:|F [XH2 dx is equal to

@ 37 J'_M Ji.,|f (p]_|2 dp

| (c) _[; kf(pﬂg dp (d) Noneof these

YA16-566
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@)

x) To solve the boundary value problem, if (u) x= 0 s given
then we apply
(a) Fourier cosine transform
(b) Fourier sine transform
{(c) Boththe above
(d} Noneof these

- xi) To solve boundary value problem by app!ymg finite Fourier

cosine transform we need conditions

(@) 0, fand u{} §

BUJ (au\
— and| —

{b} (ax x=0 axe:f
(c) Uy

{d) None of these

fl 2
xu] ax2 is equal to

(@ s(u),_,+ szus

(b) (u] - s%us

() s(u),_,-s"Us
{d) None

| xiii} J-o ey (sx)alx s equal to:

YA16-566

(@) (32 +-52] (b) ( 242 ))é

2. 2\
c) (a _
) ( +$) | @ 2
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®)
) The value of H~'{7%%,n =0} i
@ (@
) (e + x?-)_%*
© (2+2)%

-2
@ a(a®+x%) %
xv) The Mellin transform of e is::

@ [/ o [(p+1)

© p @ {(p-1)

Section-B
Short Answer Type Questions
| 5x5=25
Q.2. Prove that the Fourier transform of F'(x) is {s).
OR

—ax
e
Eind the Fourier sine transform of pal

R HK-449 PT.O.
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{8)

Q.11. Find the Hankel transform of

f(x}— 1, O<x<an=0
0, x>an=0

OR

Find Fourier series of the function f(x)=|d,~7<x<7.
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